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1. The critical point of f(z,y) =zy—z+y is

(a (—1, 1) (correct)

2. BP (g, g) is a critical point of f(z,y) = In(zy) + 222 — zy — 6z. Using the second

derivative test, the function f

(a) has a saddle point at P

(correct)
(b) has a relative maximum at P

(c) has a relative minimum at P
(d) has an absolute maximum at P
(e) the test fails at P
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3. Bifle,4)=e9then [, =..

y2e™ (correct)

4. If f(z,y) = 22 + v° + z3® then f;(1,2) =...

(correcy)
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5. Using the formula f _du__ = __az__uz + C, then g =
s E-d | du VB4
W aeae
(a) = o +C (correct)
4z
2 — x2
b
b) =0
7 s
() ————+C
4z
4 — z2
(d) " +C
2 — 2
C
)t
6. If y =tan’z, then ¢/ = . ..
(a) 2tanz sec’z (correct)

(b) tanz secz
(c) 2tanz
(d) tanz

2

(e) tan’z sec’z
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7. / reX dx =

8. /‘\/Sil’l:l’: coszrdr

2

Page 4 of 12

(correct)

(a) gsm% z+C

(b) sin? z + C

(©) Ssinfz+0
-2 3

(d) = cos2z +C

-2
(e) T sin? z + C

(correct)
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Lo
9. /“’ ki
H A

3
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(correct)

(a)%—Sln|:c|+C’
4

(b)-:i——S:v-l-C
3
(c)%—5x2+C

.’123
@ 5 —Inje|+C

+

(e) %—51n|:1:|+0

10. If the marginal revenue of manufacturing a product is

the demand function is given by

(a) p = 2000 — 10q — ¢*
(b) p= 1000 — 20q — ¢°

(c) p=500 — 10q — ¢*
(d) p=2000 — 5q — ¢*

(e) p=2000 — 10g — 2¢*

2000 — 20g — 3¢*>. Then

(correct)
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11.

12,

/(:v2 +1)e& % dg = ...

(correct)

(a) %e‘”a”“’ +C
(b) %ex% +C

(c) 3¢" % 4 C
(d) ze**= 4+ C
(e) (z+1)e"+* +C

(correct)
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2
13./ 2 T
z+1

=3
(a) E—:c+ln|:1:+1|+C

(b) 22 —z+Injz+1|+C

2
@)%+z+mm+u+c

2

(d) %—z+ln|x—1|+0

o
(e) —2——:c—ln|:c—1|+C

i, R

(8) 5(nz) +C
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(correct)

(correct)

(b) (Inz)?+C
©) %m | +C
(d) 2In|e|+ C
(@%mf+c
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1
15./wdm=...
0
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(b) /3(3 + 2z — z%) dz
1

(c) /0(3 + 2z — z%)dz
1

3
(d) (3—2z —2%)dx

(a.) ; (correct)
b) -
OK
3
() 1
4
d) =
@ 3
(e) 0
16. The area between the curves of f(z) = 22 — 3 and g(z) = 2z is given by
3
(a) / (3+2z - .’I:Z) dx (correct)
=3
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—
&

(correct)

— —
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222+a, z<l1

be a continuous function.
2r+3a, 221

18. Let f(z) = {
Thena=...

(a) :2E (correct)
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19. If f(z) = (22 + 1)®*!, then f'(-1) =...

(a) In2 (correct)
(b) 2In2

()1

(d) 0

(e) 3In2

vZ+1

20. The equation of the tangent line to the curve of y = at = 1 is given by

(a) 2y = —3z+7 (correct)
(b) y=—-3z+5
(c)2y=—-z-T7

(d) 2y=-3z+8
() y=—z+3
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5¢?
21, bt € =
\ ¢ +1

dollars. The marginal cost when 3 units are produced is

+ 500 be the total cost where ¢ is the number of units and C' in

(a) 0.3 (correct)
(b) 3
(c) 0.6
(d) 0.9
(e) 6
22. Let f(z) = e 2 *!, then f is concave down on
(a) (-1,1) (correct)
(b) (0,00)
(¢) (—o0,-1)
(d) (—o0,-1)U(1,00)
jk
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23. Let f(x) = 3z — 523. The relative maximum value of f(z) is equal to

(a) 2 (correct)
(b) 1

(c) -2

() 4

() 0

24. Using differentials, 1/98 ~

(a) 9.9
(b) 9.8
(c) 9.7
(d) 10.1
(e) 9.6

(correct)
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